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Suppose n > 1 and A 1s a » x » non singular matrix such that |Adj A| = |Adj (Adj A)|.
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Consider the following system of equations i matrix form
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2 (1 2 /l) ¥y | =0
\i/ \ =

Then which one of the following statements 1s true?
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The solution set of the inequation 3* + —4<0,1s

©dNEG0 3T +317T -4 <0 Rg), FSSo B8

(0‘,, 1)
02 S
P
3 (1,2) &
k1, 3) é)%

Question Number : 13 Question Id : 7512364333 Q%m Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orie ertical

One of the real roots om equation x° — 6x” + 6x—2=01is
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Assume that o, B, v are the roots of 2x’ + 5x* + 5x+2 = @1 he R, if oth, B+h, y+h
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The number of non-constant functions f from X =40, 1.2} toY=1{1,2,3.4,.5,6. 7, 8}
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Consider the following statements

1.  Number of ways of placing ‘»’ objects m k bins (k < ») such that no bin 1s empty
NN

1.  Number of ways of writing a positive integer ‘»’ into a sum of k positive mtegers
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If 0<cA<B<X, cos(A+B) :% and sin(A-B) = T then sin2A+sin2B=
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IfA+B+C=270°. then cos2A +cos2B+cos2C +4sin AsinBsinC=
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The general solution of cos2x x+2=01s
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If o and B are the roots of the quadratic equation 3x” — 16x + 5 =0, then
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rsinh [log(2 + \E” + cosh[log(z + ﬁ)} =
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Py- D5 P, are the altitudes of a triangle ABC drawn from the vertices A, B and C respectively.
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If in triangle ABC, a” + 2bc — (bz +c° ) = ab sin% cos%, then cot(B+ (=
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If p,. p,, p, are the altitudes of a triangle ABC from the vertices A, B, C respectively. then
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Vectors ‘H._. b.c.d aresuch that ( axhb ) X (F xd ) 46\P1 and P, are two planes determined

by vectors a@.b and c.d respectively. Then@%gle between the planes P, and P, 1s
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If OA =7 + 27 +3k and OB =47 +F are the position vectors of the pomts A and B,
then the position vector of a point on the line passing through B and parallel to the vector

OA x OB which 1s at a distance of ‘ﬁ./l 89 units from B 1s

A 50050 B €3 Both Dot T 96¥00 OA =7 +27 +3k 300%0 OB=47 +F

w08, OA X OB $8¥% $5r08850m sotxr, Biom &b 3o B $08 1189 cardé
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Avector @ of length 2 units is making an angle 60° with each of the X-axis and Y-axis. If
another vector » of length +/2 units is making an angle 45° with each of the Y-axis and

Z-axis. then @ x b =

2 G DEH EONS T 96, X-wgsns'sr 200k Y-egins'sr, i) ¥ ods 60°

Sooso 308, b ©3 068 56¢ V2 Srdy FEH $00 Y-olswsSr 0050
Z-0§508%5 2.87,8,008 45° S BixgoB, wisydo a x b =
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Let @ be anon zero vector. f ¥ =7 x (ax 7)., v=7 x(a x j)—a and

‘::=A7x(5xf)—5‘then'[f y E]=

T o6 B86 v6F 0%ss. ¥=7 x(axT7), F=7x(FxJ)-T 56050
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If F=7+7 +1(27 —7+K) and 7 =27 + 7 —F +s(37Q§7 +2F ) are the vector

N

equations of two limes L, and L,. then the shortest @anee between them 1s
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If 7 is a unit vector satisfying 7 x @ =, || =2 and ‘5’ =+/3 . then one such 7 =

[a=2. [p|=V3 so0as0 7 ©B csordes 56¢ Fxa=b & SRI0Y, wired af T =

Options :

Hzm(ﬁxﬁ)}

. " O
%[a—(bxa')} "],Q’\
‘ A
. ¥
4. Z[E—(bxﬁ)} é

Question Number : 35 Question Id : 751236 %estiun Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option tauon : Vertical

The variance of the data 2, 3, 5, 11, 13, 17, 19 1s nearly

2,3,5,11, 13, 17, 19 8670850 B, D5)8, Sodrdor,

Options :
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The approximate value of the mean deviation about the mean for the following data 1s
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If A and B are two events such that P(A) = 0.3, P(B) = 0.4 and -P(Aﬂ B)=0.5, then
P(BJAUB) =

A %0050 B oo P(A)=0.3, P(B) = 0.4 50050 ‘P(Aﬂﬁ) =0.5 odbgbitnm &8
S0k HoLdeon8, wdyd P(B|AUE) =

Options :
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Bag I contains 3 red and 4 bla . Bag II contains 5 red and 6 black balls. If one ball
1s drawn at random from one 0 bags and 1t 1s found to be red. then the probability that

it was drawn from Bag II. 1s

[ 200 3 P 8w 4 S0 wodenanon. II S DoAS” 5 B H0dadw 6 Sod
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Two dice A and B are rolled. If it 1s known that the numpher*en B is 5, then the probability
that the sum of the numbers on the two dice will be 1 than 9 15

A

B0y > A, B o FooT . B 2085 Q?"tiéda SOOIV, & Tod FAELR
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As a business strategy, 20% of the new internet service subscribers selected randomly
receive a special promotion. If a group of 5 such subscribers signs for the service, then
the probability that at least two of them get the special promotion 1s

§E vodge Wi Jomrmdhed’ drdRfor J&Fwds 20% Sood, FTgrd rgTed’
o, P88 IFHBI Doherd. & WK vohEBodS verodd 5 Hob Fomadew
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Options :
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In a communication network, ninety eight percent of messages are transmitted with no
error. If a random variable X denotes the number of incorrectly transmitted messages.
then the probability that atmost one message 1s transmitted imcorrectly out of 500 messages

sent. 1S

28 D3 TY o dnes® &08 DB TS0 0BT &R0 BDROT J0IES 0. DoddS
D0BTOS’ FX) EONS J0BTw Jopgd wE WSrdNE Foord X Srdd08, Sobd 500
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The locus of all pomts that are at a diﬂgf of atleast 2 units from (3. 0) 1s
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-3, 0) S0 BD0 2 0w 08" 08 ©Q) DodoPHhe D), HotoHEo

Options : &%
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If 6,, 6,, 6, are respectively the angles by which the coordinate axes are to be rotated to
eliminate the xy term from the following equations, then the descending order of these

angles 1s

808 DaoESdoe Hod XY A0°Q) SON0ET RS, AOTrIE WFON @00 BoBOWIOVR
S'ead0en IKdm 6, 6,, 6, o8, dydh & Fodne edd T 0

- 2
A =3x"+5xv+3y" +2x+3y+4=0,

A, =52 +2V30+312 +6=0,

A, = 4% +30 +517 —4=0

Options :
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Question Number : 44 Question Id : 7512364364 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If xcos + vsin e = p is the normal form of the equation of a straight line x + ﬁ_v +4=0

and a, b are respectively X, Y - intercepts of this line, then \/,S_Ebp —3a0 =

.T+\,/.:ﬁ.1'+4=0 DabEdo Q¥ wHeoowdrdo I1‘C05£1’+_1-*Silla’:p VY& DB

a,b oo S5 & Op Qg X, Y wodd pomde, @I} \/girbp—_?aa’:

Options :
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Question Number : 45 Question Id : 7512364365 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The distance between the circumcentre and the cenh@% the triangle formed by the

vertices (1. 2), (3,—1) and (4. 0). 1s W
(1,2), 3. 1) Sobohn (4, 0) 38500 I8y 0 B0¥), S8 bk HOSE

SO odghe drdo @
Opti_nns: : v

7' s

;
4
2.
2
15
3.
92
5
4.

Question Number : 46 Question Id : 7512364366 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
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.
If a straight line passes through the point (-5, 4) and makes an intercept of length —

J5

between the lines x+2v+1=0 and x+2y—1=0, then the equation of that line is

0¥ D88, (=5,4) DoioP Mo dd, x+2y+1=0 0050 x+2y-1=0 oI dEFépe

2
SoSg ;q PED Ko ©od8PoT) Wy, ¥ VB D80

NG

Options :
Sx+6y+1=0

1
2x43y-2=0

: S
3x+4v—1=0 ‘v

2x—y+14=0 é
4.

Question Number : 47 Question Id : 75123643 estion Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option O : Vertical

If @ is the angle between the lines joining the origin to the points of intersection of the

curve 2x% +3y? =6 and the line x+y =1, then siné =

Sore o, SEo 2x2 +3y7 =6 2005w H8¢B x+y =1 © F&S DohYHes® §O
STel-To P> 0&58’00 0 ©ond, CIONIY siné =

Options :
|
i
4
145
g

collegedunia

—



96
145

Question Number : 48 Question Id : 7512364368 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The ratio in which the line x+ y—1=0 divides the line segment joining the origin and
the point of intersection of the lines represented by 2x* — 13xy — 7v* +x+ 23y - 6=01is

Soredotdse, 27— 13xv -7V +x+23y-6=03 “wﬂ)oﬁ DEFTpo FES NDooHo
§0% 95687 powd), x+y—1=0 B JeSeod a::g@é\

-

Options : W
15:11 ((l,\
O
e >
; C'OQ/
7:3 A

7:19

Question Number : 49 Question Id : 7512364369 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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The lines represented by 5x* — xy — 5x + v = 0 are normals to a circle S = 0. If this circle

touches the circle S’ = x> +17 — 2x + 23— 7 = 0 externally, then the equation of the chord
of contact of centre of S"= 0 with respect to S =0 is

Sx" —xy—5x+y=0% $rQ0D HE¢Epen S =0 oI $5)E8 ©HOUTPLIT GTT)0X.
& Sydo, =X +)"—2x+2y—7=0 o3 SE) wirgor Y808, S =0 &g
S'=0 )8 BoEo Bog), YY) &g dET0

Options :
2y—7=0
i1,
x—1=0
2.

3x+4y—-7=0 Q,\q
‘v

S

Question Number : 50 Question Id : 7512364370 Questl e MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientati

The equation of the circle that t%es the Y-axis at a distance of 4 units from the origin
and cuts off an intercept of 6‘{ n the X-axis 1s

SO Pod 4 0l Eordo IE Y-u5 ) Sy3ar, X-wEow 6 crdd ¥woddpor)
W H)Bo Qo) D80

Options :

/.
X+ +E5x—8y+16=0
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Y+ +10x—8 +16=0

Question Number : 51 Question Id : 7512364371 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The condition for the circles x* + v + ax + 4 = 0 and x* + y* + by + 4 = 0 to touch each

other 1s

X+y +ax+4=0%000 X +)y +by+4=00e3 JE:e0 JETo RO E TS

QODRNDD
Options :

| B I 1

a b 16
3 5

a’ +b* =16
2.

| " | __1_

a b 16
=

| 1

a* +Z)2 -
4.

Question Number : 52 Question Id : 7512364372 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

I the equation of the circle which passes through the point (1, 1) and cuts both the circles
>+ —4x - 6v+4=0and x> +1” + 6x — 4y + 15 = 0 orthogonally is

X +1v +2gx+2fy+¢c=0,then5g+2f+c=

(1, 1) Dot tom e, ¥ +1" —4x— 6y +4=0 5008050 ¥’ +1y"+6x—4y+15=0
S o&ol vow FESo o HFo RoE) DWEGDO X+ 1V +20x+ 2/ +¢c=0

©@oN8, WIYE Sg+2f+c=

Options :
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3,
2
4

Question Number : 53 Question Id : 7512364373 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If the line x + v + 1 =0 intersects the circle x* + v + x + 3y =0 at two points A and B, then
the centre of the circle which passes through the points A, B and the point of mtersection
of the tangents drawn at A and B to the given circle 1s ,\

N

x+y+1=038¢3p X+ +x+3y=003 GRS &am B Doode 5& poddyod,
A, B So8050 68 5)Em08 A, B o 38 HDS é@ PodS DodoYo Hom Fd Jdo

Qo). SoEo o

&
Z,

(3.—4)

Question Number : 54 Question Id : 7512364374 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
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The vertex of the parabola (v — 1)>= 8(x — 1) is at the centre of a circle and the parabola
cuts that circle at the ends of its latus rectum. Then the equation of that circle is

y—1)*=8(x—1) &3 HorSecho R, 30 a8 JFo RwE), Soo I& wob Jodain
& JTI0000, ¥ HTW) T TPO0W0 FI0 I§ PosA0h. WAy & JJo D&,
JDWEE00

Options :

by — ey 18=1
i

X+ -2x-2y+18=0

2.
2 2
Y1+ 2x+2y-16=0 ’\b
2 ‘»Q
2 2 9, 9, = &
x*+y —2x—2y+16=0 Q/
' O
Question Number : 55 Question Id : 7512364375 Quest e : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientatig ical
. 2 2
Consider the curves C, : y~ = 4x% o L VW —6x+1=0

Assertion (A) : The commor nts to the curves C, and C, are orthogonal.

Reason(R): x—-v+1=0andx+y+ 1=0 are the common tangents to the curves
C,and C,

C,: V" =4x 58050 C,: ¥ +)* —bxr + 1 =0 &3 Sposs 80508,
A 8EcS0 (A) 1 €, 00 €, e s 91Gopen o0 &otraw.
5800 (R): x—p+1=050c0 x+y+1=0e0 C,, C,S5ros ¢io18 S)§open.

The correct answer 1s
é&@a:ﬁ DTS00

Options :
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(A) 1s true, (R) 1s true and (R) 1s the correct explanation of (A).
1 (A) 38g0, (R) d8g0 o000 (A) Qg S850S ke (R).

(A) 1s true, (R) 1s true but (R) 1s not a correct explanation of (A).
(A) 3850, (R) 8850 5°Q (A) Bg), H8Bod 38 (R) 57&%.
2
(A) 1s true but (R) 1s false.
(A) J&g0, 570 (R) ed&go.
.

(A) 1s false but (R) 1s true. ,\q
(A) 3850, 570 (R) d&g0. ‘]9
4, &
Question Number : 56 Question Id : 7512364376 Question T Q Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Verti

If OT 1s the semi-minor axis of an e i? and B are its foci and |ATB is a right angle.
then the eccentricity of that ellips

9

w8 &Y $oms OT o386 ©f Wrarggo, A 005w B e & Trabed S0aiwo |ATB
w8 Loufndin Yond, & &Y HBS D8 &8 oES

Options :

|

1

NG
2.

51
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Question Number : 57 Question Id : 7512364377 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

2 2
. : : : - = ¥
The locus of the mid points of the portion of the tangents of the ellipse o T =1

intercepted between the coordinate axes 1s

2 2
1; + -11 =1 o3 &gﬁﬁo B8, éﬂ)dﬁmm, Q8 VO P D0 Wod8 pod e

Bng. NPy DodhIho DooHFo

Opti{.ms - \q

2 3
) 4x= 2y &
&
| O
Ix" +y° =4 @
2 @v

Question Number : 58 Question Id : 7512364378 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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_ =2 P |
The distance between the tangents to the hyperbola ;0 - ; =1 which are parallel to

the lme x +3y=71s

IZ ~_ 2

x+ 3y =7 38608 ddrodbomr &0l ;O_JI =] 08iTIochin ¥ c“égciﬁzpe.:
Dggiio drdo
Options :

.4\/5

4
zﬁ Q,S)
- ‘v
. A
F ¥
N

Question Number : 59 Question Id : 7512364379 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The length of the projection of the line segment jomning the pomts (3. 4. 5) and (4, 6. 3) on
the line joming the points (-1, 2, 4) and (1. 0, 5) 1s

(-1, 2, 4) $:0050 (1, 0, 5) DochHoss £0H Sad, (3,4, 5) 50005 (4, 6, 3) DoHesd
§O0 Oy podo Rk JeHH0 LY

Options :

W | &
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A
.
3
.
]
4.

Question Number : 60 Question Id : 7512364380 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If A(3. 2, 3). B(1. 4, 6) and C (7. 4, 5) are the three vertices of a parallelogram ABCD,
then the angle between its diagonal through D and the sid&)(‘ 1S

N

A3, 2, 3), B(1, 4, 6) 508050 C (7, 4, 5) eo 385%¢ Sodyzo ABCD Soof), Sorcd
4088, D fboa &b w0 DegHsss So0aio gaslh DC & wgrio So

&

wlpe)
. (o@

Options :

5
Cos™ ( —J
V126
2.
q
Cos™ [—]
J21
=

Question Number : 61 Question Id : 7512364381 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
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m, 1s a plane passing through the pomt (1. 2, 3) and perpendicular to the planes
x+2vy+3z—-6=0, x+2v+2-—-5=0.If (1. 2, -3) 1s the foot of the perpendicular drawn
from the point (1. 3, 2) on to a plane r,. then the angle between the planes x, and 7, 1s

(1,2, 3) Dot o P, x+2y+32—6=0 50as0 x+2y+22—5=0 o3 dodveo
QOO &oBd dewo . (1, 3, 2) DodP ol o8 oo 7, 8§ ADS woadrdo (-1, 2, -3)
WONB, WO T, Hoddin T, Sodne D&y e S0

Options :

z O
y )
A
Cos™ ﬁ] ()Q/
10 é
3. @v
3 2

Question Number : 62 Question Id : 7512364382 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
3
[x]

3
If [x] is the greatest integer function, then lim 5 e {—} -

33"

3 3
. X :
[x] @36 K0% ol PIoio wond, edyd hm [¥] —[i:l =

3" 3

Options :
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8
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Question Number : 63 Question Id : 7512364383 Question Type : MCQ Option Nhg : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Q

"\]“
, Jorx+2

1
If the function defined by f(x)=: {xzc%
é k s =2

1s right continuous at x = 2, the“ﬁ

.

i
1
e 2, o
f(x)=4[x2+ez"x) , X # 2 B0
k , X =2 @035y

m QEDEToS [HIoco, x =2 3¢ Bob @SJ{DQESQO OB, @I k=

Options :

1

4
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Question Number : 64 Question Id : 7512364384 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

ax+b, if x<1

If f(x)=1ax’+ec, if 1< x< 2 is differentiable on R, t@d be =
dx* +1

X

.y 2 ‘»Q

A
&

ax+b, x<1 oS §

f(x)=4ax*+e, 1< x< 2&0}33%
" 36 R 0l8odcho wond, wdyd ad—be =
dx” +1 yis 9

L X

Options :
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Question Number : 65 Question Id : 7512364385 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

1

ik —/x X2
Suppose f(x)ze_‘g-l-e x* If f"(x)=a'e (1+—~1~—J+ﬂe (3—1J~ then

- \/; 4 2

X X

(o, B)=

1
e_‘f; +e P udsos.

—
—_—
-t
M —
1

1
s x2
f"(x)za’f’r {1+%)+ﬁ€ 3 [3—%) SenE, i Wb
: X X :
Options :
= "D

y | é(l/&
o $
2 <

.9
4
8
ol
4
4.

Question Number : 66 Question Id : 7512364386 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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The derivative of Cosh™"x with respect to log x at x =5 is

x=53g log x &y Cosh'x Bog) wSoulin

{)ptij[ms
S
20
1.
L
2 \/%
- N
L Q
; W v

5
B N

Question Number : 67 Question Id : ?5123643 estion Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option O & : Vertical
€r o

A right solid circular cylind given volume will have the least total surface area when

28 88 oS H0Jree0 HOAS w8 HE (0d) SHo Jdrdo, AR JSorrd do ITogdod §dA
€ 0)DYe0
Options :

its height 1s equal to 1ts radius.

TR )L, T TG JR0NE DArR0.

1.

its height 1s equal to its diameter.
TR D, TR TFRANIE dATR0.

2.
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its height 1s independent of its radius.

TR I, TR TP D ST EIEE

c
its height 1s —j: times of 1its radius.
3
T 28, TR TgTGSeSH oty
4,

Question Number : 68 Question Id : 7512364388 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The smaller side of the rectangle with the largest area, that can be mscribed inside a
semi-circle of radms 2 units is of length ,\q

o Gy Fgrgaw Mo ©g $3YBH50S" @oégﬁ)@ﬁﬁé STOHo HOAQ &gﬁe‘ﬁacﬁ@')&’m
Q). W) Do P&

2
|
J3
3.
2
4,

Question Number : 69 Question Id : 7512364389 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Let a, b, ¢ € R be such that 2a+3b+6c=0 and ¢ (x) be the antiderivative of

f(x)=ax® +bx +c . If the slopes of the tangents drawn to the curve y = g (x) at (1. g (1))

and (2. g (2)) are equal, then

2a+3b+6c=0 55805 -f(.r)=ax2 +bx+c Qg PSgSEondn g (¥) vdoglinm
a,b,c e Reach&somo. y=g(x) o3 3578 (1, g (1)) 50050 (2, g (2)) © & AQS

DoPpe Treven S0 Bond, Vdyd

Optijms:

a_»b _¢
3 -8 3
i I
a_»b ¢
6 -18 7
)

ﬁ_b_c
3 -6 2
3.
a=b=ec=-1
4,

Question Number : 70 Question Id : 7512364390 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Let f(x) = (x — 3)"™® 2 —x)*". x € R. If f{e) is a relative maximum of f at « , then

200+ 3f(e) =

f) = (x -3 2 -2, x € Rodsos. a 5§ fBng) HE K6%0 f0) wond,

oy 2o+ 3f(a) =

Options :
20186
4037
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20186_{2018}2018 2019)2‘”9

4037 4037 4037
2,
6
3
9
4,

Question Number : 71 Question Id : 7512364391 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Options : ;
% X 0
COSEC (—)+(7.T+C
a+X (

Cos™!| | (a-x)" =Px +c
a

2.

CosY [= (a+x)—+ax+c
a

3!

Tan™'| |2 (a+x)—Jax +c

a

Question Number : 72 Question Id : 7512364392 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Options :
-
2 3
2x" +2+ 3 T
X
1

X
2.
V2x2 +x—2 +c
3.
. —
|2 —r e
2J Tz _1"4
4

Question Number : 73 Question Id : 7512364393 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

. I(log(sinx) + xcot x)dx =

Options :

x log(sinx) +c

x* log(sin x) +c

gcollegeduniag
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o log(smx)+c

—x*log(sinx)+¢

Question Number : 74 Question Id : 7512364394 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

ox’ J5 ¥ afd

5 5 2 4 X
=" Ta = Tan " 4. then @ =

. J.(2x2+a)(x3+5) 3 J5 3 2

| 252 3 % w9
J' X dx=£ Tan™'— 2 Tad%w wonB, WS 0=

9

Question Number : 75 Question Id : 7512364395 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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3 §
If J.(E‘mr2 —4x+ 2) dx =k .then aroot of 3y -4y +2 = % that lies in the interval
0

-

10, 3] 1s

‘ 4 |
(31’2 —4x+2)dr=k wond, [0, 3] wosdoes® &od 3x° —4x+2:¥ SNV

0
DI D0

W

4

o |

Question Number : 76 Question Id : 7512364396 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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2a
If J :rz\/2ax— x> dc=ka*, thenk: =

0

2a
I xZ\/ZGx-xz dx =ka® wond. k:n=

0

Options :

1:8

3:8

‘N
o0

- &

Question Number : 77 Question Id : 7512 7 l;ueﬂtiun Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Oriencation : Vertical

3

The area of the region (in square units) bounded by the curves v = x°, v = x, and

—J€x<1. 48

SE o0 y=x",y=x508d0 —1<x<1 0B $82¢50008 Fodo FTeg0 ($BSY Hrdeys?)

Options :
L
4
1.
1
2
2.
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Question Number : 78 Question Id : 7512364398 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientatiﬂn_ : Vertical

2 : 3
If the order of a differential equation £y 2 s } + 5111( 4y ) + v =0 15/ and the degree
dx” dx dx

3

—_

2 . %% |9
of the differential equation [ 1+ d—1] = {2 - ( d—1} } 1S s then the differential equation

dx? dx
N

corresponding to the family of curves v = Ax' +?19 where A and B are arbitrary

constants, 1s &
d*v dy . | ay o
—5=2| | +sinf — |+y=0 3 QEEwo Bw), H0Sreedn [ Soda¥o

dx’ dx dx
| 1 g
2
[l+d—;] =[2 [dl) } &@5 D EE0 Bg), SEHE m @ond, A o800 B en

w | o

dx

S SyNE YToEINd WS} y=Ax +Be™ S5 Sotronsnds $0208008
©S80S dAE800

Options :

,(4_1(2 _2_\‘)}-‘"+ (16_1(2 —2)*13'+ (321‘—8)‘1? =:{)

(262 —x) "+ (8x* —2) v+ (16x—4) y = 0
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.(2x2 —x)y"— (8:«':2 —l)_1-*'+ (16x—4)y=0

(452 =2x) y"+ (852 =1) '+ (16x-4) ¥ = 0

Question Number : 79 Question Id : 7512364399 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The solution of the differential equation vdx —xdy +3x*v*e" dx=0 satisfying y = 1
whenx=1.1s

| g g, 3

vdx —xdv+3x"ye" dv=0 oiod H0Esr8, x Qh@%é‘@m y=1% SpHos
P W

Options : ;&

_1'(ex3 -—(l—t-?.e))—x:O @

5 . @v
_1’(.91’3 +(1—e))+x=K%
,_1.(61-3 +(+e))-x=0
;.-(61'3 —(1+e))+x:0

Question Number : 80 Question Id : 7512364400 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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. : : ; =i ) ;
The solution of the differential equation (1 +y” ) - (x = );—1 =0 1s
X

(l+_1*2)+(x—eT““_lJ’)%=0 OSELS SWEYI0 D), FES
v

Options :

2Tan"ly Tan ! ¥
e S =

X C

2. &
Tan 1y 2Tan_1} 0 :
2xe —e —7
3 é
Tanly - 2Tanly @
xe 7+ 2e * =&
4.
Display Number Panel: Yes
Group All Questions: No

Question Number : 81 Question Id : 7512364401 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following represents fundamental forces of nature?

& 1508 TES" (KR5S By, FENE orodD JrRoWI

Options :
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Gravitational force: Coulomb’s force; Strong surface tension force; Weak Van der
Waal’s force

HEE; w00; §reod wo; Puo Sodlisd Be0; VOIS TIRETS weo

Gravitational force: Electromagnetic force; Strong viscous force; Weak nuclear force

2 5l o : )
" E; w00; JSFEDIY 08 VOO Wao QYF 200 2O IS SoE w0

Gravitational force: Magnetostatic force: Strong nuclear force; Weak frictional force

S 00 ; VBB 08 0] Wae Sl weo; DOTE D0 w8 w00
. .

Gravitational force: Electromagnetic force: Strong nuclear force; Weak nuclear force

Hodes weo; Idogilaian o peo; W o mﬁ&mma’)&){) 50168 200

4

Question Number : 82 Question Id : 7512364402 Question Type : tion Shufﬂmg Yes Display Question Number : Yes
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Options :

Match the physical quantities given i List - I with dimensions in List - II.

A)
B)
C)
D)

List-1

Gravitational potential

Stefan’s constant
Permittivity
Specific heat capacity

SES*Z

List-11I
"l I S
MP12T2
MIPTK
M 12T

(The dimensions of mass, length, time, temperature and current are M, L, T, K and I
respectively)

DE3E - | 5N 2GS FEET DD HGE - 11 S50 hod® 2SIY0S0.

A)
B)
C)
D)

(835078, DEH, S0, WS Sodaw I

S8 -1

r’bci‘:e‘ﬁng &Bgﬂaé

EJ%’Q ﬁig #L’Dggo

00w I)

The correct match 1s
H0808 S°80

&) (B)
\Y I I

@ B ©

2.

I I\Y% Il

A B ©

o

I I I

D
)
I1I)
V)

&

(€) /\%)

II

(D)
I

(D)

5

éo

2gs -1
ML TZE
MY IAT™
ML TR

Ml@ 12

é Jodoeven SHI ML, T, K
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Consider a car mitially at rest, starts to move along a straight road first with acceleration
5 mv/s”, then with uniform velocity and finally, decelerating at 5 m/s”, before coming to a
stop. Total time taken from start to end 1s 7= 25 s. If the average velocity during that time
1s 72 km/hr, the car moved with uniform velocity for a time of

FOmT ITDRES” &) 50, w8 V¥ Srdo Jowd wodd 3.0 m/s” $08e008°, STNS
JD0FKS50E Sodasn DSET 5 m/s 2088008 (KRoSrdod AOVPFH 8. |rdogfo
D0& VIO 88 Bey Iwgo 5700 1= 25 8 & JHoc% 58 dén o 72 km/hr
©ons, & HHBHE HArBoBTE HES sw@

154 4}
L. 0

. 30 s @v,é
155s ,\(0
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A boy runs on a horizontal road with a speed of 4 m/s while i1t 1s raining. He sees that the
rain 1s making an angle 6 with the vertical while running from west to east. However, when
he runs from east to west. the angle 1s o. The ran 1s pouring down at an angle 45° with the

'tané’.

vertical and at a speed of 8 m/s as shown 1n the figure. The ratio t 1S
an o

w8 2reudd 380 DRV §8z Jdrodd Srdo Do 4 NS &S HSRETTH L.
e DAY 008 SrddE SHAKRIYE 8o eI O 2o 301’1}35&.%% BrRr .
50 88 Srd) 0od JEDCE SENEIYE, & Fwo o T TrFR. JYHS’

: ‘tané
45° Smos* Bosd S0 8 M/s SBE BLos® ErbIby Skk0d. ——

QG Jend
tan o

Vertical

West
ol dnole]
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A ball 1s projected vertically up from ground. Boy ‘A’ standing at the window of first floor
of a nearby building observes that the time interval between the ball crossing him while
going up and the ball crossing him while going down is 2 s. Another boy B standing on the
second floor notices that time interval between the ball passing him twice, during up motion
and down motion is 1 s. Calculate the difference between the vertical positions of boy B
and boy A. (Assume g =10 m/s°)

28 208 ¢rdd Dol LYY P8 PEIHN VIT . JNBINS' FIS0es® Tk
©oEHS' o8 888 3§ Joadd ‘A’ o3 wreod & 208 S35 TLosobr
JYJYL D05 S Thnsvotir (Bodsy JSWNIYE TE PPy JDSH YodSod
2s m oo, ‘B’ 93 H08E wrend o8 $5506° Bodd wodeS' Joad S5
2008 Tors), w80 N8 o050 TodSIrd (Bodsy IWNIYd 8 gy dSook
©od8Sndo 15 m HBodT . erend ‘B’ Soddin wrends A’ © Jend FIdned” o

380 (g=10 m/s? ™ w5FcH50) ,\Q

Options : W:

845m A
&

375w @

5 @v.
X 4.2: &g

250m
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A bar of mass m resting on a smooth horizontal plane starts moving due to force ‘?| = % .

The magnitude of the force remains constant with time. The force vector makes an angle 6
with the horizontal which varies with the distance covered as &= Cx. If the constant

degree
meter

C= 10( ) , then the speed of the bar, when & becomes equal to 30° for the first

time, is (Assume g = 10 m/s”)

2.8 DA §H22 VXroST S00 R, M (BI50°3 e K0k, ‘F‘ — % VOO0 I SE0B.

OIS o0 DOIFDO Qo Gotnod. o J0F §8= ddrodlos’ 0 §eord) B,

©d FBrBSosy drdos® §=Cr ™ 5rdd0d. afd RT3 C=1o[degm].
meter

©I8r 6 ©I& BP0 30° m Sy BodSHW, & d@cﬁwé&, 5& (g=10m/s*

@080 N0) ‘»Q
Options : &

0.33 nvs ()Q/
i, $
0.50 m/s Q/
&

1.0 m/s

0.8 m/s
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A particle of mass »21s moving along a circle of radius R such that its tangential acceleration

; . : 2 ; . .
(a,) varies with distance covered (x) as @, = @x™ where o 1s a constant. The kinetic energy

(K) of the particle varies with the distance as K = #x“ where 3 and ¢ are constants. The
values of fand c are

m \$3g02 Ho o8 S0 R argarddn o Sgo Joad HoirsdoddYdo Tl Y Sedeadwn
(a,) ©8& >FodS &rbo (x) & a, = ax’ ™ $rd&0b. QL o I RT3, Eeoo B,
838 (K) &ordoé’ -K:ﬁxc m Sorh&od. Ry P Hddin ¢ e QET DD, P 50880
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A mass of 2 kg, mitially at a height of 1.2 m above an uncompressed spring with spring
constant 2 x 10* N/m, is released from rest to fall on the spring. Taking the acceleration
due to gravity as 10 nv/s” and neglecting the air resistance, the compression of the spring in
mim 18

2 x 10* N/m ()oh Porosdw §A Jdoaddo Bodsd ¥ Eeh 28 1.2 m 9KHS° o
2 kg 5550730 & o 28 008 FEJEATH. MO ITER) DB, Hd] S18erQ)
10 m/s” m 808008, Ryofi BobESo mm o'

Options :

20

Question Number : 89 Question Id : 7512364409 Q@l Type : MCQ Option Shuffling : Yes Display Question Number : Yes
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A bullet of mass 1 kg fired with Mspeed 2 ms™ from x = 0 passes through a block of wood
whose centre 1s kept at a distance of 10 m from the origin as shown in figure. The retarding
force (F,) on the bullet within the wooden block 1s —0.5/x. The mmimum length of the
block (upto one decimal digit) required to completely stop the bullet is (Assume ¢* = 553)

HL0S* HrHS Do wE 1kg $55078 o Hokhd SreDotkd x=0508 2ms™ S48
DOIYH ©8 10 m ErdoS’® Ko EE BI Koz FYHHB. KB BS® Ko SAVA%D
$0088 200, F,=—0.5/x 008, Hothi Fomr sdirds 55008 o) $0 FEY (8
Saod Hopy S88) dend (ef =55 m wSHFRsw)

> —

| _
! |
=0 x=10

X
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Options :

10.1 m
1
92m
2
9.7m
3.
193 m
4,
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A solid spherical ball rolls on a horizontal surface at 1 d continues to roll up on an
inclined surface as shown i the figure. If the mass o all 1s 11 kg and frictional losses

are negligible, the value of /" where the ball stop;Qd arts rolling down the imclination 1s

(Assume g = 10 mv/s”) %

28 D08 A9 208 88z HSZrosY é% 10 /s & SQS>r Ten Soops HLos®
Wl DPom FWEr IK)WHB. mc@m%‘ 11 kg S080500 80 So Siren 08008,
S 208 TS0 i amm%g 0P 5§ I Dend (g=10 M/’ ©STSHS0)

A

Options :

8m
6 m

7m
=
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A long slender rod 1s welded to a thin circular disc of diameter 0.5 m at a point on 1ts
circumference. The rod 1s in the same plane as that of the disc and forms a tangent to the
disc. The radius of gyration of the disc about the rod (1n m) 1s

0.5 magso Ko B9 HTET DHS T SyE HBED Ko o DothP S& SH MBS
$6Q IQoh TOT . 8§, BY) ©0d $0oS'I DHF NGVP™ Golood. EgHdom DY)
R, AOAS Tgrgdn m o

Options :

1 O
2 q,Q,\

il &
, 8 S
{0?
|
2 &2
. W2
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A particle of mass 0.1 kg 1s executing simple harmonic motion of amplitude 0.1 m. When
the particle passes through the mean position. its kinetic energy is 8 x 107 J. If the initial
phase 1s 45°, the equation of its motion 1s (Assume, x(7) as the position of the particle
at tume 7)

0.1 kg 85508 o 28 g0 0.1 m EodS HBWEE” JG¥T0 E)¥ FodI0H BASHDIHE.
S0 S0 FHo Ho0d FYSY T K8=¥§ 8 x 107 ]. £ &a8E0 45° wosS’,
TR H5od SEG0 (Swo 15 Sadrso x(7) m w8 Sodw )

Options :

x(7) =0.lsin(4r+§-]

0 =0.1sm(161+9 (‘9’9

_ A
x(r)=0.lsin(2(r+gn é(ﬁo
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If a satellite has to orbit the earth m a circular path every 6 hrs, at what distance from the
surface of the earth should the satellite be placed (radius of earth = 6400 km)

( Assume % =8x10"> Nm? /kg . where G and M are gravitational constant and mass of
T

earthand 10/ = 2.1)

a8 ST B8 6 Hobos Frd by HEE Y Sodhbins® 85KIB8I0B, &l

50800 Dol GHHTRY) GotIoRd Grddn (Frd agFrgo = 6400 km)
L2 P
(57 = X107 N'/kg m esiiopsoson, mugts Go0as0 Moo S8 isds porosion,

g0 B3508. 107 = 2.1 @o8sn.)

Options : q
15100 km >

8720 km (3(,

S
5560 km &(0

20600 km

Question Number : 94 Question Id : 7512364414 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

A copper wire of cross-sectional area 0.01 cm” is under a tension of 22 N. Find the
percentage change in the cross-sectional area (Young’s modulus of copper=1.1 x 10" N/m?
and Poisson ratio = 0.32)

0.01 cm’ 536553&&5 ITwgo o o°h &85 22N o SSg8S® & 0d. ;’33653!)66 3T 0" Srddy
TEQ) ESTSsn. (o°A oHof MHego = 1.1 x 10" N/m* 58080 Frowas 348 = 0.32)

Options :
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126x 1072
8.6 % 107

6.4 x 107
3.

2R %107
4,
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A cylindrical tank with a large diameter 1s filled with water. Water drains out through a hole
at a bottom of the tank. If the cross-sectional area of the h%is 6 cm” then the drainage

rate (in m*/s) when the depth of the water is 0.2 m, is Q,\

DG g0 fo o8 SeFTE FHS* DB dot, I, wdros &) o8 $H Sogo o
D oD% Y. Folgsn ok, $o¢5gH ©g0 6 cm” 850 B &*& 0.2 m
©oST, A Jogo Hom wohbod 39 s &

Options :

1.0 x 107 ‘.OQ/V
| A

1

82 % 10+

2

29 % 10°

2

12 %107

4,
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The surface tension of the soap water solution 1s % N M The free energy of the surface
T

layer of a soap bubble of diameter 5 mm will be

%)

= W S mm aggsn fo Suy i ss0se 39

D20y N8 TR0 SodSgS
BooE), Ny

Options :

25%10°°3

1x107)

Single Line Question Option : No Option Orientati ical

&
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Statement A: Convection mvolves flow of matter within a fluid due to unequal
temperatures of its parts.

Statement B: A hot bar placed under a running tap water loses heat due to effect of
convection within water.

Statement C :  Heat transfer always involves temperature difference between two systems.

DIV A J0ITS PIEHS” G e I JIrdS0sQ Giden wokdo S

TG PITT0 BUHS08.

3850 B: 28 JI& 5%@ BogroN ok @53)"'@»5& P& 1808 GoRNIYE JodFTSo
50 ©b 28D §'e5*\0b.

DBGSN €1 B8 Ird)d% Tod Igdge Dy SIUHSS” Sy GodSTp.

Identify the correct option. \q
DOGS 205°Q) 8o 0.

Options : «

A.B.Caretrue

¥
A, B, C en 38550 é
v.
Only A and C are true @

A 06052 C e ss»@:iéoégm

Only A and B are true
A 508050 B en Sovig8o SIS

Only B and C are true
B 308050 C en S i@ S&gadan
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A body cools from 70 °C to 40 °C 1n 5 munutes. Calculate the time it takes to cool from
60 °C to 30 °C. The temperature of the surroundings 1s 20 °C.

28 509 5 dsoTes® 70 °C So0d 40 °C &FHssH Serd. of 529 60 °C Sood
30 °C & PEsS Sercobs T8 58 surd) Adowdn. HodTe &S 20 °C.

Options :
1 min.
1 QSa0880

7 min.
7 Q30 Q(S0en

2

6 min.
6 QN ABVE

15 mun.

15 QBoodSaoen @v.
4, &
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One mole of ideal gas goes through a process PV = constant, where P and V are pressure
and volume respectively. Let W be the work done by the gas as its temperature 1s increased
by AT. The value of [W] 1s (R 1s the universal gas constant)

o8 IS 66 TP PV = roksn o HEms S*5Hs0s. agi P Sdcko
V &0 SEHm 088500 500050 D058 Sorearen. 70509) &%@ié& AT DoH B a5
Dosn B W wond, (W] dend (Re3I8 s7adnd Boos), ¥ Rorosdn)

Options :

RAT

L
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L RAT

A
2.

ROAT
3.

BT
4 -
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An ideal gas 1s placed i a tank at 27 °C. The pressure 1s mnitially 600 kPa. One fourth of the
gas 1s then released from the tank and thermal equilibrium '@ﬁ.tablished. What will be the
pressure 1f the temperature 1s 327 °C? )\

uf udY) Taindd o SO’ 27°C 55 wodd. Ep £ baxsn 600 kPa. &7
D08 (1) Sod asndd 560596 & 28 D\BSB. SIS 327 °C wand,

5650 Deod @
Options : : v

900 kPa

1. &%

1000 kPa
2.

1050 kPa
B
. 1250 kPa
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Which of the following equation represents a simple harmonic motion?

(o 1s angular frequency, A 1s amplitude of oscillation and j = J-1)

BKS BYS D $oESmo HEETTEE Soad) HrOds?
(- SBos FS:pSs80, A - Fos 50208 508050 i=+/—1)

Options :
d.'{' )
2 i - A”
dt
1.
d*x 5
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A musician on a moving vehicle plays a tone at 880 Hz note. When the vehicle was approaching
a listner. he receives it as 888 Hz tone. The speed of the vehicle is

(Assume the velocity of sound 1s 333 mv/s)

K0 S0es® ﬁé; TE0S® Ko 28 HoAds s o8 550'“@_ 880 Hz E\’)Q TORTE. T T80
F'S50 D0DoSYW, wEd & Hoody 888 Hz m dodoerds. irEdn g, $&

(B Iy 333 m/s ™ Geroiiosw)

Options :
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6 mv/s

1

5 m/s

3 nvs

1 m/s

4
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Three lenses of focal lengths +10 cm. —10cm and +30 cm are placed at a distance of
30 cm, 35 cm and 45 cm respectively from an object. The @nce between the object and

the 1mage formed 1s Q\

o8 3D vo& +10 cm, —10cm Sodcdwn +3 Tergodoen fo Sord SLsODN
S&H3m 30 cm, 35 cm 0w 45 cm &o3 G ORI, I SoBT0 PohS

@808 gy He drdo é

L

100 cm

: A

75 cm

30 cm

. 45 cm
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In a Young’s double slit experiment, a thin sheet of refractive index 1.6 1s used to cover one
slit while a thin sheet of refractive index 1.3 1s used to cover the second slit. The thickness

of both sheets are same and the wavelength of light used 1s 600 nm. If the central point on

the screen is now occupied by what had been the 10® bright fringe (m=10), then the thickness
of covering sheets 1s

w8 ool zod NVOSL PArKod, w8 NOEH 1.6 JBFSS Do Ko IH Jeis’
500050 Bokd DO 1.3 SBHFSS Hso o JH Hois Srdad. Bok dode
OTA) VITI000 OB SFITrAONS 5708 édoﬁgggo 600 nm. Y& 8
$8gD0tY, RBSEH 105 Jeory & (m =10) 8 DooPHo SELODS, Kordd
oL Noddw

Options :

50 um

O
8 um (19,\

1

A
20 um ()Q/
S
40 um @

Question Number : 105 Question Id : 7512364425 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

An mfinite line of charge with uniform line charge density of 1 C/m 1s placed along
the y-axis. A charge of 1 C 1s placed on the x-axis at a distance of 4 = 3 m from the
origin. At what distance () from the origin on the y-axis, the total electric field 1s zero.

(Assume 0 <r <d)

1 C/m Q868 THodH &3¢ Folé o a8 ©$od THAH GITR) Y-wEo Ioad GodTW.
Soredody) Hod d=3m drdos® 1 C sIz) x-w§on GodT . Sredothyd o
X-080D 2o Grdo ¢ I0go Jgd B0 &) wPHod. (0<r<dm oHEHodw)

Options :
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Il m

2m

A

25m
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A capacitor of capacitance 4 uF 1s charged to a potential difference of 6 V with a battery.
The battery 1s then removed and in its place another capacitor of capacitance 8 uF i1s
mtroduced and the circuit 1s closed. The potential dif@ce attained by each of the

capacitors in V 1s Q

08 oo o0 4 UF 3Ly Ko 3L, &V FBIcHE FrA8 $TFH0DT .
oo B T Fod® 8 UF TLT) BTN 3T0LED ©500) Soaird) Srbad.
©8 3FDLE 0B DBIAHS BAo ‘V‘é

Options : @i

= e
4

2.

= 6
8

4,
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Estimate the magnitude of current that passes through a wire, 1f 0.1 mol of electrons flow
through it in 40 min. (Assume Avagadro number =6 x 10*)

28 85S° 0.1 mol JoFsy 40 min o&° PITY, & ihom BT IS I
505re00 dend (SME dopg =6 X 107 m wES50)

Options :

4A

1

9A

12A

3.

4,

O
14A N
>
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Find the potential difference betwee@cxﬁ b, as shown 1n the below circuit.

v

8RS BorDd oot a 5843 © ¢y Ko PBIHS B0

A

a =

ﬁuT__
15 Q 5 & 45V

-y -

24 QS 12 QS 8Q

10 Q

Options :

165V
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198V

2,
213V
3.
224V
4
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A metal disc of radius @ = 10 cm rotates with a constant angular speed of w=200rad/s about 1ts
axis. The potential difference between the centre and the rim of the disc under a uniform
magnetic field B =5 mT dwrected perpendicular to the disc. 1s

® =200 rad/s © P& =30
SG8° oo B0k, YK woworr B=5mT . WobA 08 FE°R) PWAriw, &
HY) SoBsn OB Yoo By YL S Pho DS

Options :
2mV é)
1

- &

10mV
3

2

15mV

4,
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A proton accelerated by a potential difference 500 kV flies through a uniform transverse
magnetic field 0.1 T. The field 1s spread on a region of 1.0 cm thickness. The angle through
which the proton gets deviated from its original direction 1s

(Proton mass = 1.6 x 107’ kg and charge of proton= 1.6 x 107° C)

500KV >BIcHS FEos® d8eo mAodS w8 @Fer 0.1 T 8858 wohdr) o8 gigo o
AN0FH0d. & G0 1.0 cm Hodote WRFOR IRBeAIH. Perd T oo &

HOo& o8 §'00e5® dToso Boohod.
(Ferdo |ESgo8 = 1.6 X 107" kg, e s3F0 = 1.6 X 10°20C)

Options :

0.01 rad

0.1rad

&
2 ‘»Q\
A
&
O

: 0.08 rad $
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14d

0.05 rad

S

A toroid has an 1ron core wit internal magnetic field of 10 T mT, when the current in
the winding of 1500 turns per meter 1s 10 A. Determine the field due to magnetization

(u,=4m x 107 Hm™)

25080 wodopiom Ho &'orand o NLHS® 1500 Kt $0h &b, Sis® 10 A
DgS BITR, T wodGohE wabd o8 FGSw 10 T mT. v od8dnln So §87
3E™R) ATdothdn (H, =41 X 107 Hm™)

Options :

(4m) mT
1

(10m) mT

2
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A conducting wire bent in the shape of semicircle has length L and moves 1n 1ts plane with
constant velocity v. A uniform magnetic field B exists in the direction perpendicular to the
plane of the wire. The velocity makes an angle 45° to the diameter joining free ends and the

emf induced between the ends of the wire is ® = (BVL). The value of constant «is

O 5)TEE0S* 5008 wf T8 8K L 2dHd §0n PNDosS’ v E3rios® Husreoni,
S o8 wowor wohaod FES0 B &;6&'?3 a7 Fdod oo a8 30
45° S'erQ) Tx, 8K VS Hogg 3&556%)@@0 @ =q(BVL) H0850 ©3808.

8T8 O D0 é
Options :
9

1, &
5
5 T
X
J2
=3
2
4 T
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A sinusoidal voltage with a frequency of 50 Hz 1s applied to a series LCR circuit with a
resistance of 5 Q. inductance of 20 mH and a capacitance of 500 uF. The magnitude of

impedance of the circuit 1s close to

5 Qo A5G0, 20 mH @88 Sodasn 500 pF 33r08S) Ko a8 LCR @8 Seosrs
50 Hz &r&:pdgsioorie 2y $80% S'P2Q 01T H. & Soohd) 9d6'E 2080 irdm

Options :
19.2 Q

1.

144 Q

X 9.6 Q ,\q

QO

552 ‘]f

4,

Question Number : 114 Question Id : 7512364434 Question QCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Ver

The concept of displacement Qgﬁt solves an ambiguity 1n

9

%:‘6@0% [RTT® LIPN 0d I8S® T QOTASTE ES DB SIS

Options :

Gauss’s law

TR Qo000

1

Faraday’s law
s FER JoSodw

Ampere’s law
" 0ON0 QO RN
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Coulomb’s law
Sr008 Q00N

4.

Question Number : 115 Question Id : 7512364435 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A photodiode sensor 1s used to measure the output of a 300 W lamp kept 10 m away. The
sensor has an opening of 2 cm in diameter. How many photons enter the sensor if the
wavelength of the light 1s 660 nm and the exposure time 1s 100 m s. (Assume that all the
energy of the lamp is given off as light and 7 = 6.6 x 107" J—s)

w8 PP dAre Sy 10 m Srdod® do 300 W 28y eam8a7Q) Feothbde
GARFNoTR. & (FFIS 2 cm gRaw o Tgdo Sod. 5708 ddorigdgo 660 nm
5000k HEg8880 oo 100 M s WonSYE (ErgHineiRs WIToth PSS dopg

(6550 o Indo 5D Fodm Ay S0005w =® 1074 J-s m edo8dosm)

Options : &%

) 3.6 x 10" (f"
28 % 10" é

" Q,v

2.5 x 101 &(o

Question Number : 116 Question Id : 7512364436 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
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To excite the spectral line of wavelength 4960 A of an atom, an excitation energy of 7.7 eV
1s required. The ground state energy of the atom 1s 10.5 eV. The energies of two levels
involved in the emission of 4960 A line are (Assume he = 1240 eV-nm, where h is Planck
constant and c 1s speed of light)

28 JESre0HeS R 4960 A édoﬁ@%o fo SgHL O GBuI8STIE 7.7 eV o 82
38 5583, HESre0Y o ¥§ 10.5 eV. 4960 A Fpi emdo Doswres® &EAS
Boy Foww ¥§ denden (he=1240 eV-nm i @308 050, Rf)é> h €38 Fof Horosn
00050 ¢ ¥IB 08 I&)

Options :

142 eV, 16.1eV

122N, 182eV Q’\q
‘v

) 15.7eN,; 182eV @v.

Question Number : 117 Question Id : 751 %uestinﬂ Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Oriencation : Vertical

In one average life time of a radioactive nucle,

08 DEDrE0E SosY wE Jiin LIEswod’

Options :

more than half the active nucle1 decay

Do BoB 89S (Bosrie Sosoen FokBora.

1.
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half the active nucle1 decay
20 (Bodrde Sodsoen Fosodordo.

2

less than half the active nuclei decay
S0 Bosrie Bodse Kof 8595 EoSSorr.

B

all the nucle1 decay
©Q) So(EsTen Eoodoeran.

4.

Question Number : 118 Question Id : 7512364438 Question Type : MCQ Option S ing : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

N
The truth table for the given logic circuit isq{Q

BKIS ANS B8, SocsrIS dg :.3%3(/

B

& So— :D7Y

Options :
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Question Number : 119 Question Id : 7512364439 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In a transistor circuit, the collector current 1s changed by 8.9 mA, if the emitter current is
changed to 9.0 mA. The value of current amplification factor, 3 1s

08 ErQRE Sochod® TdY g W) 9.0 MA Sl TR, T JoyiSee
DEgS Hardro 8.9 mA m Sorddy Boodod. P $gIs 8o, B Dend

Options :

89

; 84 Q,e)
&‘Ir
96 &
O

Question Number : 120 Question Id : 7512364440 Qu Q MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientatio 1
The transmitting antenna placed a 1&: of a tower has a height of 45 m from the ground.
The distance between receivin -ansmitting antennas 1s 40 km and the radius of earth
1s 6400 km. The mmimum he m m) at which the receiving antenna is to be placed for

satisfactory communication in LOS mode. 1s

28 PO HoS” o PY woBI) P 00d 45 m RS G0d. (TS BN
EFS soBame Dy drdo 40 km So0cke Fordo argrdse 6400 km. LOS S8&°
DOSYNEEHS J0dT 8, (TrE woBID Godiond XY I8y Dds’

Options :
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Question Number : 121 Question Id : 7512364441 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The radius of the 2™ orbit of B*" ion is:
D
BY wolirS Gng), 25 8§ a5y "],Q
Options : &
423 A é(/
1’ S
0.2340 A Q/V’

0.4232 A «%

Question Number : 122 Question Id : 7512364442 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The product of uncertamty mn the position and uncertamty in velocity of a particle 1s
5.79x10~m’s™*. If uncertainity in the position is 1 nm what is the uncertainty in the

measurement of its velocity inm s~ ?

w8 ¥o0 o?mézr @c::é ©ISSc0 300050 IN0S*R OISO YO 5.79x10°m%s ™.
TS0 ©IE&co 1 nm wood IKos® wdFSSo m s 0e5* Jod?
gcollegeduniaa
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5.79x10’

. 5.79x10°
- 5.79x107

5.79x10*

Question Number : 123 Question Id : 7512364443 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Among the isoelectronic ions (O™, N*~, Mg”", Na"), the ions with least and highest ionic

radius are respectively q

5% JoFRE wakrS (07, N, Mg™, Na") 0", @ég%@cﬁw ©&508 VuSrdE Tgrgo
He wdiroen SIM &

— (5(/
e ‘.OQ’V

Question Number : 124 Question Id : 7512364444 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The correct increasing order of basic character of Ce(OH),. Gd(OH), and Nd(OH);, 1s

Ce(OH),, GA(OH), 508050 Nd(OH), & 58 KomSn 28R $8508 ES050

gcollegeduniaa
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Ce(OH), < Nd(OH), < Gd(OH),
Gd(OH), < Ce(OH), < Nd(OH),
Gd(OH), < Nd(OH), < Ce(OH),
Ce(OH), < GA(OH), < Nd(OH),

Question Number : 125 Question Id : 7512364445 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

How many 1ons of the following have bond ofSer of 2.5?

Vv

$08 WAIrLOS” IS eaocﬁLééaibQ} € 00087

CN“*$
Options : @
4 @

NE‘:NO‘;C;:N;:C;‘:

4

(R

N
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Which of the following ions has Tetrahedral geometry and sp® hybridisation for its central
atom?

808 VArQwS” T8 BLrrdS 8B §OA ok T o DTS00 sp%fmééécﬁea*@:l
§O0 cvodnod?

Options :

BH,

NH,

CO%

3— 2
Q

H,0" ‘v

Question Number : 127 Question Id : 7512364447 Question QCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Ver'

Diffusion of CH,(g) and O,(g) occur @1‘ similar conditions, then the ratio of their rates
of diffusion 1s Q/

2.8 335‘%@6‘ CH,(&), Oz(a“)'%a’aséo BB T8 TS TL QG Dod?

Options :

1.414

1

0.707

2
)
p—
9

1.732

Question Number : 128 Question Id : 7512364448 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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The vanation of compressibility factor (Z) with pressure (P 1 bar) for some gases are
shown in the figure below. Identify the gases (A), (B) and (C) respectively

Q) oo ‘éoﬁ)c‘ég Kozt (Z) S Eoyen 2850 (P bar ©&5®) 8o (8ol Herdwnes®
dordagon. (A), (B) S8k (€) sradnon SEHdm Hhiolhdw.

(Real Gas = Q= orodwnd) : Ideal Gas = edd) 570509)

Options :

Real Gas, N, ., CO, é
1- O
Ideal Gas, H, ., CO, @v.é
Ideal Gas, CO,. H, &%
3.

2

Real Gas. H,, €O,

4.

Question Number : 129 Question Id : 7512364449 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What is the equivalent weight of methanol if one mole of CH,OH is combusted to form
COandH,0.

28 306 CH,0H & CO $8adn H,O eorr &S0 D288 DES'S Soergol I
D0€5?

Options :
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1

3.33
2.

A
=

10.66
4,

Question Number : 130 Question Id : 7512364450 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

While combusting in air, 4 g of H, gas was completely ¢ @Ted into water. If 36 u mole
of CO, from air 1s dissolved into that water, what is th oicentration of CO,?

4geo Hyaodndhdh mdS” Hrom ‘ﬁ:oémﬁmé 57008, AES ABS" 36 u Irdeo
mdS'A CO, 80008, CO,mES J0&?

Options :

L uM Q/V'

n

' I mM "*
| nM

=
1000 mM

4.

Question Number : 131 Question Id : 7512364451 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Which of the following does not follow first law of thermodynamics?
(w=work; q=heat; AU = change 1n internal energy)

Bod TES® B GRHBE T I8 o) IEow?
(W= 3Q; q= &Q50; AU = wodds 85" Sovdd))

Options :

w>0;q>0; AU<0
w=0;q=0; AU=0
‘ N
w>0,q=0, AU>0 (\9
&
w<0;q<0; AU<0 é()

| &
Question Number : 132 Question Id : 7512364 uestion Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Or& : Vertical
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Match the following:

A)
B)
C)
D)

So&

A)
B)
€)
D)

List - I (Reaction)

2S0,(g) + 0,(g) = 2S0,(g) at 298 K
2S0,(g) + 0,(g) = 2S0,(g) at 700 K
N,0,(g) = 2NO,(g) at 298 K
N,0,(g) = 2NO,(g) at 500 K

s2 58e

TEQ 285ET0.

he” -1 (S8g)
298 K 8¢, 280,(a) + 0,y = 250,(a) ,&b
700 K 56, 280,(=) + 0y, = 2SO,(= "\/Q

298 K 58, N,O,(&) = 2NO,(

1)
[II)
500 K 58, N,O,(&) = 2NO,(= é’@ V)
V)

The correct answer 1s @
BBRS BIFGE B ,@

B C D

1 V I
A B & D
,V II NV I
A B €& D
vV I I 1

List - 11 (K )
0.98
3.0x<10°
1700

4.0x10%*
6.8x107°

e -1 (K,)
0.98

3.0x10°*

1700

4.0x10%*
6.8x107°
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A B C D
vV VvV 1

4.

Question Number : 133 Question Id : 7512364453 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A solution of 0.1 mole of CH,NH, (K, = 5x 10~*) and 0.08 mole of HCl is diluted to one
litre, then the pOH of the solution 1s (log 1.25=10.1)

CH,NH, (K, = 5%x107%) 0.1 3rSen 58050 0.08 3rSen HCl sy o8 deadsd
QOS50 BHS & e pOH Jos? (log 1.25=0.1)

Options :

10.1

9.9

* d

Question Number : 134 Question Id : ‘?512@1 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What are two types of crystal structures shown by ice at different pressures?

DD AETO B S0t HEG)0W Sokd 5w 98 Joyerren QD7

Options :

Hexagonal and monoclinic

AeH B Sodakn DESEE

1.
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Cubic and monoclinic

Dodo Hdn WSy

Hexagonal and tetragonal
4¢5Y e80% $o0os0 W, B

Cubic and hexagonal
D050 Ho0AB0 AETH, 3%

4.

Question Number : 135 Question Id : 7512364455 Question Type : MCQ Option %g : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Identify X and Y respectively in the follow@eactions

Mg(s) —2— MgO +B Q/
PVNO éo

Sparmgly b?mpmmd with ]

soluble ungent odour

Bod Fgee” X 00aho Y oo S83m fHhgohdw.

Me(30) ——2— MgO +B

A
Hy ‘_,o

X .3
SON B TN
[@‘a’)eﬁo&é] [ R éi)@)#’ém ]

Options :
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| MgO: C
Mg(OH), : MgO

| MgO :NH,
Mg(OH), : NH,

Question Number : 136 Question Id : 7512364456 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which one among the following statements is correct am@ solution of borax in water?

N

S'oE)0 NES® E0A0WT ANES (T5e5~R8 éoz&&&@o& TES* B BB DSBe?

&

d NaOH
e H3BO3 08050 NaOH exodgown.

Options :
It 1s acidic because it contains H

A8 e0800 Gotod o

1

It dissociates into NaB%\%d B,O,
0 NaBO2 0000 B203 OO DABTRN0 WOLDD.

2

It 1s neutral because it contains NaOH and H,BO,
B8 SLY ©F0 otnod JokhEod &JS* NaOH Soddin H,BO, enoiromn.

=

It 1s alkaline because it contains NaOH and H,BO,

GRS 8800 wotnod docsoB &AS* NaOH &ocin H,BO, evotrow.
4

Question Number : 137 Question Id : 7512364457 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
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Identify the correct statements from the following.

1)  Quartz 1s a piezoelectric material

1)  All group 14 tetrachlorides except CCl, are easily hydrolyzed by water
111) The C—C bond distance within the layer of graphite 1s 154 pm

1v)  Si0, 1s soluble i aqueous HCI solution

8ol ES" J0FS JIpon HNHoWkok.

1) 5%08 a8 FAgS DTG

1) CClL 83y () 14 Beor§8Gen dowdor 2ed3hn Boderow.
u) (Te8 FIS° C-Cwoodzdgo 154 pm

V) =e HCl grdeo0e® S10, §6r0808 )\q

Options : Q
«‘b

; 1, 111 Q/
L éo
. 11,1V &g

i 11, 1V

Question Number : 138 Question Id : 7512364458 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Match the following.

List-1 List-11
A) SO, I) Photochemical smog
B) PAN II) Acidramn
C) Smoke ) Stratospheric pollutant
D) CECL IV) Particulate

808 TR 2SHEHBSW

e -1 e -1l
A) SO, ) 5088Fad Fh

O &4 @5‘569&) 5 00§50
D) CECL @’éw%@

The correct answer is
SOGDS HIFGHED é
Options : @v
A B & B &
, vV Il 1 I &
n B T P
i . | \VAR ||
A B € D
NV 1 o 1
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Question Number : 139 Question Id : 7512364459 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Find the suitable IUPAC name of the compound given below.

5ol RIGVEN 533@;55“@% 0TS JUPAC &rfodoodo ES0Sod.

CH,-CH,-C-CH,-CH,-CH-CO,H

| | |
OH O Br

Options :
2-Bromo-7-hydroxy-5-o0xo heptanoic acid )\q
248° -7\ @°8) - 58}y TPh SFows @ﬁ&

1. &

1-Hydroxy-3-keto-6-bromo hept @&cid
130 (@8)-3-8¢5°-6-5° 30 ©350500

2. @
2-Bromo-5-keto-7-hydiydssfhheptanoic acid
245" -5-885°-7-r(@°8) arnStonl esdodo

5-Oxo0-7-hydroxy-2-bromo heptanoic acid
5-58%)-7-37@°8)-2-° 3 RS 008 esodoo

Question Number : 140 Question Id : 7512364460 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The boiling pomt (in K) of cis but-2-ene and dipole moment (in D) of rans but-2-ene are
respectively

PD g S-2-63 G0, wrFIS Fdo (K &*) So0asn (@rg) worgls-2-63 gy @rdso

(D &°) $&dm
gcollegeduniaa
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Options :

, 274, 0.00

i 2717, 0.00

Question Number : 141 Question Id : 7512364461 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The major product formed 1 the followimg 1'eac&1 sequence 1s

NH,

808 SorgESasnet Doy @'

NH1

Options :

NH

tJ

NO,

1)(CH3;CO),0/Pynidine
11) Conc. HNO; / Cone H,S

Oy

1) H,0/H®

1) (CH;C0),0/2045

i) H,0/H?

N

N
P
7

é()

€5 SY)d0
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NHCOCH,

NO,
2.
NH,
NO,
3.
NH,

) O
xo, qQ’\
o i &
: <

Question Number : 142 Question Id : 7512364462 Ques pe : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientatiq ical

NaClis a FCC lattice where Na™ jons &fe at corner and face centre positions. Chloride ions
are at edge centres and body c& sitions. How many NaCl formula units will be i an

unit cell

NaCl 2.8 FCC aros ) §00 &od, Na~ edirsesr Sroe 00w do¥ So88 FTros®
&0olron. 5§08 Volrdey Yol HEFS" Do WodBEoRE FTeS Golron. wE
ArAE DSST Hd) NaCl FEer oAl Hopg

Options :

2

1.

4
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Question Number : 143 Question Id : 7512364463 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

How many grams of glucose are required to prepare an aqueous solution of glucose having
a vapor pressure of 23.324 mm Hg at 25°C m 100 g of water? The vapor pressure of pure
water at 25°C 1s 23.8 mm Hg.

(Molar mass of glucose = 180 g mol™)

25°C $¢, 23.324 mm Hg erdyaddo fo zomdao doirddcins®, 100 g © s
Q) (P00 Ar8E ©dd8IS0s? 25°C 5§ D4 N8 hywEdsn 23.8 mm He.

(Kr8°S weo 55078 = 180 g mol™)

Options :

1 204 ’9
10.3 '\

: ¥

74 {‘7'
5 = &fo

}J‘l
=

Question Number : 144 Question Id : 7512364464 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

I£ 0.1 M solution of NaCl 1s 1sotonic with 1.1 w% urea solution, the degree of 1onisation of
NaCl is (Molar masses of urea and NaCl are 60 and 58.5 g mol™ respectively)

0.1 M NaCl m8e0d0, 1.1 w% cordosr d008® oS I8m ﬁéﬂlgé* NaCl &oo8),
©SoAET ©IH (Srddlr ol NaCl o weoE@dgordhen SHIM 60 S0

58.5 g mol™)

Options :

2

1.
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2,

|
3,

1.83
4,

Question Number : 145 Question Id : 7512364465 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

An electrolyte of a polymer-salt complex of poly (ethylene oxide) - LiCF,SO, 1s shaped
into a free standing circular film of 20 mm diameter and a thickness of 20 um. When it 1s
sandwiched between 2 staimless steel circular electrodes of the same diameter, this cell

&ctiviry of the electrolyte?
’\

>0 (a5 wg8) - LiCF,S0, 63 20506-0 ‘g%(sﬁaes 50330 20 mm gdo,
20 um oo Ko s s FEm @d}*&)iﬁ@ﬂ% FES Tokd HIYHILA @B HHETES

314

exhibits a conductance o

Fg00 Ko %:Jm QQJ@;S@ S0y woDSK Soéd

JJeJLE"‘@éS RB0E), VBRTTES Jo&?

Sa— gl
Options : @
4mS cm™ ,\
1.

04Scm™

40 mS cm™
0.004 S cm™

Question Number : 146 Question Id : 7512364466 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
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The following results have been obtamed during the kinetic studies of reaction:

ONO+2H, — 5 N, +2H,0

2NO +2H, —— N, + 2H,0 %85 Goo§), 18872 wdgoddo Basyc §od &aro¥o
o oN0d.

Expt —d[NO] [NO] [H,]
dt -
mol L, s mol L mol L
L 4.8x107 1x1072 1x1073
4 43.2x10°3 3x1072 1x1073
3 86.4x107° 3x1072 2x1073

The rate Law 1s: )\q
B0 Qo050 28? q,Q

Options :

~dINO)_ NopP [, ]

o dt @
—d[NO] : Q/v

R —k[NOJ [Hi

—d[NO] ,
T =k[NO][H, ]
—d[NO]

& —KINOJH,]

Question Number : 147 Question Id : 7512364467 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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The mass of Haemoglobin in mg required to protect from coagulation of 50 mL of a gold
sol on adding 5 mL of 10% NaCl solution 1s:

(gold number of Haemoglobin =0.03)

S0mL 7°¢ >S5 SmL 10% NaCl @S0 90553 208 50850 S0 HBEEoNE S
OSIEHR0g TIETAS mg o&°
(IS *Q Sopg = 0.03)

Options :

0.03

N

Q
‘v
0.15 Q‘:\

Question Number : 148 Question Id : 7512364468 Qu $u MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientati

In the preparation of chlorine by thkctrolysis of brine, the reaction taking place at the

anode 1s &@

@_55@ :Jéogé' S'Jﬁa'aeao Moo i‘&Séo SSrHDVE0S® AS'E écg:’g 2800 Sd8g NTAY,

Options :

A —z'l(‘l2 (g)+e”

(aq) 2
I 1 l 9
Cl,, —>EC () +e

collegedunia

—



Na E’aq) +e~ —Naf(s)

Nag,,+e~ —Na(3v)

0,(2)+4H" + 4e~ — 4H,0())

0,(5) +4H" +4e™ — 4H,0(&)

H{,p+e — % H,(g)

He,+e = VL H, ()

‘ Y,
Question Number : 149 Question Id : 7512364469 Question Type : MC % Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which is the correct equation for the ébQ;ion of AgCl with NH,OH?

NH,OH &° AgCl $dg%0 é@%@éwm 287?

Options : %
AgCl+NH,OH — AZOH* NH: +CT

L

AgCl+2NH,0H — [Ag(NH,),]"+CI"+2H,0

£,

AgCl+4NH,0H — [Ag(NH,),]" +ClI"+4H,0

2

2AgC1+NH,OH — Ag,0+NH, +H +2CI’

4.

Question Number : 150 Question Id : 7512364470 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
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Name the gaseous products from the following A and B reactions respectively.
A Hydrochloric acid 1s added to sodium sulphide
B.  Conc. sulphuric acid 1s added to a muxture of sodium chloride and manganese dioxide

Bod A Sodasn B H8ges® ok Boirasrge Wi S&dm
A 8ok $B)E% TET0E wird) EOFM.
B. &&dho §8& H0ck0 Sroffdd BesB)Ge DESeAS mE Q08 wird) SO,

The correct answer 1s
JOGS SEFTHH

Options :
1. & - B O
Dy
H, , H{
2.

HS . O,

HS . Cl, &(0

4.
Question Number : 151 Question Id : 7512364471 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The elements with the highest and lowest enthalpy of atomisation, respectively for first
row transition elements are

0L SKD HOBYN Sreoses” vEiRE HHb oD wdgwy HESTBEY QOFT O\ o Jorws e
809

Options :

Sc:Zn
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Ti:Ni1

.4

V:Zn
3.

Cr. Mn
4.

Question Number : 152 Question Id : 7512364472 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The IUPAC name of the compound (NH,), [N1(C,0,), (H,0),] 1s

(NH,), [Ni (C,0,), (H,0),] 3¢50 Go¥), r@)c B
- N
Options : ‘»

Nickel (IT) dtammuino dioxalato diaqué
NBS (1) e Bes§)Bes* Q@

Dioxalato diammino diag%&kelate (I11)

BuBE* Zod Fuhg WSS (1)

Ammonium diaquabis (oxalato) nickelate (II)

©37V000 FWEHDD (es85)8¢5°) Js8E (1)

N1 dioxalato diaqua (IT) amminate
Ni 3es%)8¢5° 3usg (II) oIS

Question Number : 153 Question Id : 7512364473 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
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Which one of the following 1s a biodegradable polymer?

8od 8BS LBIE0~E S FONE A8?
Options :

H H ﬁ) ||O

| |
FN-(CH,),—-N-C—(CH}-CL

(N
'[‘C TN (CHg)S_’N _}n

O

. "],Q’\
H O H O &
- &

{II\T—CHz—é"—b'I—(Cfg)S—'g;

-3 @v-
 OH 0 -
1 i ,CH, CHE\

Question Number : 154 Question Id : 7512364474 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The enzyme responsible for the convension of proteins to ci-amino acids 1s

PEIS 0-AS sirenr SrHEIS 5°800ans JoBa

Options :
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PR
Trypsin

, B3
Maltase
S8 8

3. -
Amylase

©BE O
) )
Question Number : 155 Question Id : 7512364475 Question Type : M Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical c :
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Match the following.

A)
B)
C)
D)

So&

A)
B)
C)
D)

Jast-1

Analgesic

Tranquilizer
Antibiotic
Antihistamine

S8 28D 0.

e -1

AT YNE
groscSed
05083 RBrE3§
diroéS%r‘f’gboS

The correct answer 1s
SBGP HEPTHB0

S

B

on N

B £ B
I IV 1
B © D
m 1 W
B € B
N 3 1

List-11

= O

) Codeine
IV) Prontosil

Phenelzine
Terfenadine
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Question Number : 156 Question Id : 7512364476 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which one of the following is used to obtain the maximum percentage of terminal alkene
by dehydrohalogenation of CH,CH,C(CH,),Br?

Bod T8S* BIY edRBrhy CH,CH,C(CH,),Br & d7r@ s’ 23aS dobhomr wdghs
TS0 S 8 S A8)H06?

Options :

Sodium ethoxide 1 ethanol
QEITES® PRoDD &FTB)&

Potassium ethoxide m ethanol

RS SS® PEracD S8t
2. ’ N

Potassium tert-butoxide i tert-butyl w‘aﬂ
tert-arg8S w5 FSS” Féracd It-20°gtr8)&

3’ N
Potassium alkoxide derived ft -ethyl-3-pentanol in HO—C(C,H.,),
HO-C(C,H)), S° 3-6353an0LS’S 008 JHBS irachan ver§)é

a &

Question Number : 157 Question Id : 7512364477 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Find the correct order of acid strengths of the following compounds

8o éﬁog}émv B FDTFO JT/ FEdo FTS0d

H
OH OH OH
eSOV C Ao
O/ @/ MeO o
NO
CH, ! NO,

A B C D E F

gcollegeduniaa
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F>D>E>B>C>A

1

D>F>E>C>B>A
2,

D>E>F>B>C>A
3.

F>E>D>B>C>A
4,

Question Number : 158 Question Id : 7512364478 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The compound that does not undergo halofor tion 1S

v

SIS PO SEGT0ER HBoy¢$500 4}
O

Options :

~ CH,CHO $
&

CH,CH,OH «C'o

2.

CH,COCH,

3,

C,H.COCH,CH,

Question Number : 159 Question Id : 7512364479 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Which of the below reactions produce carboxylic acids?

8od

d.

Options :

a.b.c @v.

$8gos’ 58108 wiresh ¢$)8 VoS D?

HC'= C-CH=C-CH,OH ———2_—»

| CH;COCH;
CH

(1) aq.NaOH

Ph—CCl, ___=®

(i) H,O0 /H®

3

C,HBr —a e—

2 (i1) CO, ,9
(iii)H,0 / H® q,Q

CH,CH=CHCH, KZC’ZOIHES%

é()

i,
Z.
b,c.d &
2.
a.c,d
3.
a.b.d
4.

Question Number : 160 Question Id : 7512364480 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Find the suitable method from the following to prepare primary amines without the loss of
carbons.

Bod TES® sE)Pole SyFsom pd AW ROX0 Soirdd B HORD DEB EHoFSos
Options :

Gabriel method

ADHSE 558
_ (¥

1

Alkylation method

s8),BAES DK
g o

D
Hoffmann bromamide method Q
TR s a’ag & q’

=

Stephen method

. - E a
i QP oacgé’é Q/

1 E
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